< GREENLEE 851 Heater for PVC Conduit

Exploded View 2

w
0
>
1
w
/]
=]
4
q
0
“
<
a

BOTTOM VIEW

Greenlee Textron / Subsidiary of Textron Inc. 8 4455 Boeing Dr., Rockford, IL 61109-2988 815/397-7070




< GREENLEE 851 Heater for PVC Conduit

Parts List

1 503 5583.0 Cover unit (includes 2 —5) ..o, 1
2 503 5595.3  Insulation, tOP COVET ........uuuiiiiiiiiiiiiiaiaeeaaeee s 1
3 503 5594.5  Insulation, rear COVE ........uuuuiiiiiirieiieeieeeeeeeeeeeiessnssnenenns 1
4 503 5590.2  Reflector, COVEN ... 1
5 905 2970.7  HaNdIe ... 1
6 503 5598.8  HINQGE ..vvviiiieiiiiiiie ettt 2
7 905 2969.3  Screw, machine, #10 — 24 x 2.00 round head .............. 2
8 905 3296.1  WHhEEI oo 2
9 905 2265.6  Retainer, pUSh-0N ........cccccuuiiiiiiiiiiiiiieee e 2
10 905 0704.5  Screw, machine, #10 — 32 x .375 round head .............. 2
11 503 5592.9 Heating element ..........coooiiiiiiiiiiiiiieeeeer e 1
12 503 5582.1  HOUSING UNIt ..covvviieeeiiiiisciiieeee e 1
13 90529715  WREEI cuuutiiiiiiiiieie e 6
14 905 0877.7  Screw, cap, 1/4—-20x 1.250 hex head ........................ 4
15  9051593.5 Nut,heX, 1/4 — 20 ......ccoicciieceieeeeeeee e 4
16 905 2339.3  Washer, flat, .312 X .750 X .090 .........cceeevvenrnnrrnnrinnnnnns 4
17 503 5601.1  Bracket, heating element ...........ccccuvveiiiiiiiiiiiiiiiiiiieenen. 2
18 503 5599.6  PiN, FOHEI c.cooveeeeeccecee e 2
19 9050937.4 Retaining ring, .250, Truarc #5100-25 ...............cceeenn. 4
21 918 6410.0  Guard, SWItCh .........ooiiiiie 1
22 918 6409.7  SWItCh, tOggle .....cooiiie 1
23 918 6091.1  PiIlot iGNt ...ccciiviiiieeeiiiiiee e 1
24 503 5600.3  AXIE, WNEEI ...covvvieeeeiiei e 1
25 503 5596.1  INSUlAtioN, FEAN .....ccceeeeeeee i 1
26 503 5587.2 Reflector, rear ... 1
27 503 6311.5 Reflector, lower right ..............eeeiiiiiiiiiiiiis 1
28 503 5597.0  Insulation, bOttom ........ccccvviiiiiiiiiiece e 2
29 503 7189.4  Insulation, lower reflector ...........c..coee e 2
30 503 6310.7 Reflector, lower left ..., 1
31 503 5603.8  COrd, POWET ...ceeiiiiiaieeeiiei ittt 1
32 918 6441.0  GriP, COM..uumiiiiiiiiiieeeeeeie e r e e e e e e e 1
33 503 5593.7  Cover, electrical ...........cooececiiiiiiiii e, 1
34  9052401.2 Screw, #10 — 32 X .375 .ooiiiiiiiieeeieeee e 7
Decals and Warning Plate
503 6097.3  Plate, HOt Warning .......cccccuvveeeeeiieiiieeeeeee e ccseeinienns 1
503 6098.1 Decal, Lift POINt .......ooviiiicie i, 1
503 6096.5 Decal, Use GFCI Cord .........viieiieiiieeeiieeeecee e, 1
503 5191.5 Decal, Safety InStruction ...........cccceeeeevieiiiiiiccciniiiniieeee 1
503 0392.9 Decal, Damp Warning .......cccccveeeeeerrieriereeeeeeeennsinssnnnenns 1
Greenlee Textron / Subsidiary of Textron Inc. 9 4455 Boeing Dr., Rockford, IL 61109-2988 815/397-7070

>
)
|
]
>
r4
v
0
m
)
s
0
m




